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Group Number: 1
Group Id : 20996313
Group Maximum Duration : 0
Group Minimum Duration : 150
Show Attended Group?: No
Edit Attended Group?: No
Break time: 0
Group Marks : 200
Is this Group for Examiner?: No
Examiner permission : Cant View
Show Progress Bar?: No

Analytical Ability
Section Id : 20996337
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 45
Number of Questions to be attempted : 45
Section Marks : 75
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0

Sub-Section Number :



Sub-Section Id : 209963277
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 2099632497 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (1 to 20)

Note:  In questions numbered from 1 to 20, a question is followed by data in the
form of two statements labelled as (I) and (IT). You must decide whether the
data given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelmes:

(a) Mark choice (1) if the statement (I) alone 15 sufficient to answer the question.

(b) Mark choice (2) if the statement (II) alone is sufficient to answer the
question.

(¢) Mark choice (3) 1f both the statements (I) and (II) are sufficient to answer
the question but neither statement alone 1s not sufficient.

(d) Mark choice (4) if both the statements (I) and (II) together are not sufficient
to answer the question and additional data are required.
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Sub questions

Question Number : 1 Question Id : 2099632498 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
1. Data Sufficiency

SECTION - A : ANALYTICAL ABILITY .::.;ll:"il: ; B
i

What 15 the four-cigit number S4xy”
?{_.L;( SAXY 14§

) x+y=4
) x-y=2

Options :

Question Number : 2 Question Id : 2099632499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1. Data Sufficiency

SECTION - A : ANALYTICAL ABILITY .::.;ll:"il: ; B
e Yt



What 15 the GCD of x and y ?

(el (GCD) L Ky mix

0 x*+y*=36
() LCMof xand yis xy.
- Xy «(LCM) p-L.i €yl x

Options :

Question Number : 3 Question Id : 2099632500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY  =b6(# L D‘"“f SENEenEy
e Yt



What 15 the area of the rectangle?

el S

(I) The ratio of length and breadth of the rectangle 15 5 : 3.
-;:_5:3 &fjdfu;’/ /5IJ}1’£LP/

W) Circumference of a circle is 352 m and the length of the rectangle i Jof

the radus of the circle.

-;:_l}fi Wﬂﬁ;/”lﬂ%&y He 72352 b

Options :

3.3

4. % 4

Question Number : 4 Question Id : 2099632501 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1. Data Sufficiency

SECTION - A : ANALYTICAL ABILITY .':.;l,li-'-jg f
e feib



[f x and y are real then, what 15 the value of xy ?

#

?§&ﬁﬁdky?&5&?yﬂux!
O x+y=8
M) x*+y:=34

Options :

4. % 4

Question Number : 5 Question Id : 2099632502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1. Data Sufficiency

SECTION - A : ANALYTICAL ABILITY ..':.;ll:"\:;_l: /; b
e Yol



What 15 the volume of the cylinder whose radms 15 r cm and herght h cm?

- hem Sabalr om Fdk a_b?’ e

() r+h=10
) r*-rh-2h*=0

Options:

Question Number : 6 Question Id : 2099632503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY  =b6(# k D‘"“f SRy
e el



[s that year a leap year?

e 2 o

() The number represented the year s divisible by 4.
-;:_(Z"j Jic bl / ﬂLgJ(u'V

(I) - The number represented the year ends m two zeros.

-;:_/“l?(ffi!:. )‘J)JJ«FUL‘LJ fane

Options :

4. % 4

Question Number : 7 Question Id : 2099632504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY b6} # . Ret Suriey
e fe i



What 15 the distance between the places A and B ?

?;;_WGJ,L,»;;KB A A A

(I)  Ifaperson starts walkmng from A with a speed of 4 knv'hr, he reaches B by
30 mm. late

-b:’c;./ W;“‘30~.-EBJJI.L;(C'} /UP.::.;LUJ’&( d 7 ﬁ4¢.A(ti»J}é,{lfl

(I) Tfaperson travels from A on a cycle with a speed of 6 knv/hr, he reaches B
by 20 mimn. earlier.

FFNIBL S e 5B A i L)

<ty

Options :
1. % 1
2. % 2
3.3

4. % 4

Question Number : 8 Question Id : 2099632505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1. Data Sufficiency

SECTION - A : ANALYTICAL ABILITY .':-_AG';:*.L' /f
u.':a;&'fpf.ml’._#"



Find the prime number p.

-5(11"‘[’:1@}/5’

(I)  p lies in between 40319 and 40330.
e Cnele nLA0330.0 40319 P

@ p>40318

Options :

Question Number : 9 Question Id : 2099632506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY  =b6(}# ki D‘"“f SEEEEy
e el



What 1s the area of the rectangle?

e KL

(I) The pertmeter of the rectangle 15 48m.

-{_}f 48%@,&?

(I) The ratto of length and breadth of the rectangle 15 7:3.

-9715.':«3" L,{u;a F ¢ LJA/
Options :
1. %1
2. % 2
3.3
4. # 4

Question Number : 10 Question Id : 2099632507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY  =b6(# e
e feib



Find the number of possible values of the natural number n.

-jé;?)l'" uf.u:’.;ﬁ ( V"JH MFU‘:b
(I) s greater than or equal to 1.

f.:_dstfﬁ..gl_t.l“/.c:.u{m

(I) n divides Sn + 2013,
et/ fn+2013

Options :

Question Number : 11 Question Id : 2099632508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1. Data Sufficiency

SECTION - A : ANALYTICAL ABILITY .':.;l,l?-\::*_L' f
e fe b



What was the average speed for 1200 km trp?
U L 51000
(I)  The first 400 km of the trip took 4 hours.

I SR 0L
(IT)  The last 800 km of the trip took 10 hours.

& 10042 5800057

Options :

Question Number : 12 Question Id : 2099632509 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY 64 # R SOy
e feib



What 1s the value of log, a?
e \Uiflog, a

() logeb=k
() logyc=I

Options :

Question Number : 13 Question Id : 2099632510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1. Data Sufficiency

SECTION - A : ANALYTICAL ABILITY ..':-_:ll:"j_l: ’f- ’
e etk



[fa solid metallic cone 15 melted and recast tnto a sphere, then what 1 the radmus of
the sphere?

bl B e S B A

H &

() The radmus of the cone 15 3 cm.
& 7 &’ ) ﬁmﬂ {bs f
(IT)  The hesght of the cone 1s 10 tmes 1ts radius.

NUELSL A0

Options :
1. %1
2. % 2
3.3

4. % 4

Question Number : 14 Question Id : 2099632511 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1. Data Sutficiency

SECTION - A : ANALYTICAL ABILITY .':-;}FJ_L: f
e et



Which 1s the most effictent among the machines 4, B, € ?
oSt CoB A g

() 3 hours running time of A 15 same as 4 hours running time of B.

LLSKELL B 3 A

(I) 4 hours runnmg time of A 15 same as 3 hours runnig time of C

LLIHESLC o KW A

Options :

4. % 4

Question Number : 15 Question Id : 2099632512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY b6 # e
e feib



What 1s the salary of A? :

(I) A gets 20% less than B's salary and B gets 0% more than that of C.

2/ Lo 50% b8 JC Bt fof20% ef (B oA

) C's salarvisRs S0000.
25000045 { €

Options :

1. %1

Question Number : 16 Question Id : 2099632513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY  =b6(# e i L
e St



Can we construct the triangle ABC ?
& JPABC sy
() AB=2cm,BC =3cm, CA=6cm

(M) BC>CA>AB

Options :

1.9 1

Question Number : 17 Question Id : 2099632514 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1. Data Sufficiency

SECTION - A : ANALYTICAL ABILITY .::.;ll:"il: ; B
i



[s y positive? *
e el Y

0 x*+y<0
() x—y >0

Options :

Question Number : 18 Question Id : 2099632515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1. Data Sufficiency

SECTION - A : ANALYTICAL ABILITY .:.*.;ll:"\:;_l: j ,
e Pt



What 1s the average of a, b, ¢, d ?

Wb abed

) a+b=c+d+6
M) c+d=10

Options :

Question Number : 19 Question Id : 2099632516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1. Data Sufficiency

SECTION - A : ANALYTICAL ABILITY ..':-_:ll:"j_l: ’f- ’
..:-.w_é"d.::,,l:ﬁ#’



Are AABC and APQR of same area’
fe i JKAPQRAAABC

]

) BC=(R
M) 2B=2(

Options:

Question Number : 20 Question Id : 2099632517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1. Data Sufficiency

SECTION - A : ANALYTICAL ABILITY .:.*.;ll:"j_l: }': ;
e el



Find the prime number p.

-é()‘” P iy

) 719 < p< 727
M) p>727

Options:

Sub-Section Number : 2
Sub-Section Id : 209963278
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 2099632518 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
2. Problem Solving A. Series (Analogies/a:b::c:d relationships)

JEL A



ABXDD: I(IOL = E(TY6)H: NOOR

4, % 4

Question Number : 22 Question Id : 2099632519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

2. Problem Solving A. Series (Analogies/a:b::c:d relationships)

J L b



ABODE : BCI4EF :: GENRE :

HEF3SF
HEF 14SF
HEI5SF
HEF16SF

Question Number : 23 Question Id : 2099632520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2. Problem Solving A. Series (Analogies/a:b::c:d relationships)

JEL A



e+ ot 120 +8 uat-dx+4:

) x*-xt-x-1

(2) x*=6x*+11x-6
3) x*+6xt+11x+7
(4) x®-6x*+12x-8

Question Number : 24 Question Id : 2099632521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

2. Problem Solving A. Series (Analogies/a:b::c:d relationships)

JEL b



CFI DHL  EJO
126 224 350 ——

(1) FLR
504
(2) FLR
324
(3) FLR
18
(4) FLR
216
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 25 Question Id : 2099632522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

2. Problem Solving A. Series (Analogies/a:b::c:d relationships)

JEe A



BOECa 2T D X

N

T e e
-~ N

Options :

1.%1

Question Number : 26 Question Id : 2099632523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

2. Problem Solving A. Series (Analogies/a:b::c:d relationships)

JEe A



ROUND : NDURO :: CAKES :
EKSCA
ESKAC
ESKCA
ESCKA

4. % 4

Question Number : 27 Question Id : 2099632524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

2. Problem Solving A. Series (Analogies/a:b::c:d relationships)

JEL e



DEF : 360 :: HIJ ;

2810
2180

2020
2160

Question Number : 28 Question Id : 2099632525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2. Problem Solving A. Series (Analogies/a:b::c:d relationships)

JEr b



(1) 999
(2) 1332
(3) 1001
4) 513

Options :

1. %1

2. %2

3.3

4, % 4

Question Number : 29 Question Id : 2099632526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

2. Problem Solving A. Series (Analogies/a:b::c:d relationships)

JEe A



7+2V12:2+vV3 . :2+445

(1) 9445
(2) 942V5
(3) 9435
(4) 9445

Options :

Question Number : 30 Question Id : 2099632527 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

2. Problem Solving A. Series (Analogies/a:b::c:d relationships)

JEL e



FUSTY (YUTSE) : VYING (GNIYV) :: WILGA (GILWA) : YAMEN ()

[) NAMEY
) NAMDY
3) NEMAY

(
(
(
(4) AMENY

Options :

1.1

Sub-Section Number : 3
Sub-Section Id : 209963279
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 31 Question Id : 2099632528 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2. Problem Solving A. Series ( Odd things out)

S e



10, 30, 68, 130, 220, 350, 520

68

——— —

-2 [E—

fe—— g s o —
LD
|
]

Options :

4. 4

Question Number : 32 Question Id : 2099632529 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2. Problem Solving A. Series ( Odd things out)

JEL A



112, 100, 90, 80, 76, 72, 70

(1) 90
2) 80
3) 76
@) 72

Options :

1. %1

2.9% 2

3. %3

4, % 4

Question Number : 33 Question Id : 2099632530 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2. Problem Solving A. Series ( Odd things out)

S e



0,0,2,3,6,10, 15,

¢} 2
(2) 3
(3) 15
(4) 6
Options :
1.4 1
2. % 2
3.% 3
4, = 4

Question Number : 34 Question Id : 2099632531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2. Problem Solving A. Series ( Odd things out)

JEL A



ESOR, YLIL, SUTOL, NOMEL, SPILUT, DLOGIRAM, AILLEMAC

Question Number : 35 Question Id : 2099632532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
2. Problem Solving A. Series ( Odd things out)

JEL A



22.32.44.58.74,92, 111, 134

(1) 92

(2) 111

(3) 134

4) 74
Options :
1. % 1
2.9 2
3. %3
4, = 4
Sub-Section Number : 4
Sub-Section Id : 209963280
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 36 Question Id : 2099632533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
7. Prohbesti Solviis A. Series ( Missing numbers in sequence or series)

Jp (g .L,.Lr



5, 64,15, 192, 60, 768, 300, , 1800

(1) 3840
(2) 3640
(3) 3740
(4) 3940

Options:

Question Number : 37 Question Id : 2099632534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
2. Problem Solving A. Series ( Missing numbers in sequence or series)

J" K ‘L,.Lr



2.8,5.6,84,112, . 16.8,19.6

e,
P T

3.3

4. % 4

Question Number : 38 Question Id : 2099632535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
2. Problem Solvini A. Series ( Missing numbers in sequence or series)



10405
10400
10395
10390

4. % 4

Question Number : 39 Question Id : 2099632536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2. Problem Solving A Series ( Missing numbers in sequence or series)

Jp Kl ‘L,.Lv



380, 280, 199, , 86, 50, 25

—
-3

S
Ll
 SCEE RS T . T A

Options :

Question Number : 40 Question Id : 2099632537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2. Problem Solving A Series ( Missing numbers in sequence or series)

Jp Kl ‘L,.Lv



(4) 8
Options :

1.41

Question Number : 41 Question Id : 2099632538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
7. Problemn Soliving A. Series ( Missing numbers in sequence or series)

Jp KL ’L,.Lr



V241 1 1 1
V2-1'2—+2 ' — 448’ 4(3+22)

& dle v

(3)
4 22

Options :

Question Number : 42 Question Id : 2099632539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

2. Problem Solving A Series ( Missing numbers in sequence or series)

S 1A



11V8 | 3143
P2t pt—F 0 w) a5
(1) V3-1
22
(2) +V3+1
\2
(3) V3+1
2+/2
(4) V3+1
4
Options :
1. = 1
2. % 2
3.4 3
4, = 4

Question Number : 43 Question Id : 2099632540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
7. Problemn Soliving A. Series ( Missing numbers in sequence or series)

Jp KL ’L,.Lr



3.3,12.8,.30. 70, , 42

(1) 49
2) 56
3) 52
(4) 54

Options

e

2.9 2

3% 3

ey

Question Number : 44 Question Id : 2099632541 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

2. Problem Solving A. Series ( Missing numbers in sequence or series)

JEr e



AF.BL.CT. .EP.FD
(1) EE
2y GC
(3) FF
(4) DD

Options :

Question Number : 45 Question Id : 2099632542 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
2. Problem Solving A. Series ( Missing numbers in sequence or series)

JP K _le



63, 64, 69, 66, 75, 68, 83, 70. 1

4. ¥ 4

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

A

Fe

5
209963281
No

null

Question Id : 2099632543 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 48)

SECTION - A : ANALYTICAL ABILITY .':-AE'JE;Z:

B. Data Analysis
2 B



The following table illustrates the number of candidates (in thousands) appeared for

three entrance exams A, B, C over a five-year pertod from 2019 to 2023.

S Lni S 2CABAGE EE il bl 202312019 e L

-‘:.‘_L?BJJCE‘JJ@(J: S

Year A B C
2019 220 49 13
2020 250 46 30
2021 220 57 40
2022 400 76 23
2023 310 1, 4

Read the table carefully and answer the following questions 46 to 48.

_Zf:}:.«gl££48£"46&0&'1}!&‘3/;.::.&@!}/‘)54«?

Sub questions

Question Number : 46 Question Id : 2099632544 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY =46} # B. Data Analysis

o el

In the exam A, the percentage of mcrease i the number of candidates appeared i

2022 compared to 2021 15

s SAPAT G LA S P A 120228201

Options :

4. % 4

Question Number : 47 Question Id : 2099632545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY =46} # B. Data Analysis

o el

What percent of candidates appeared for B 1n 2022 compared to all the candidates

appeared for B durmg five years?

LI L LB NREG LA LLS ff B gignl il
?.:;.MWLD

Options :

4. % 4

Question Number : 48 Question Id : 2099632546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY b6} # B. Data Analysis

o el

By what percent approximately 15 the maximum number of candidates appeared

compared to 1ts previous year in C?

L

-{.QM&&LULJ LI /J LB L2 C i

3

(
0
(
(4

)
) 120
)
)

Options :

4.9 4

Sub-Section Number : 6
Sub-Section Id : 209963282
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 2099632547 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Question Numbers : (49 to 51)

SECTION - A: ANALYTICAL ABILITY b6 (4 B. Data Analysis

o el

There are 6600 employees 1n all in four companies A, B, C and D. The following

pie chart shows percent wise distribution of the employees n these companies.

LA St o 9 h ¥ iaetin 6600 o Dt CBA Ui et
-d"..k.f/ b

The following table gives the male to female employees ratio in these four

companies A, B, C and D.
et/ e Stin iy £ DA CBe Augs et f

Company Male - Female Ratio
& ey
A .

B 5:4
C 1:3
D 50

Read these carefully and answer the following questions from 49 to 1.

a2 LS F A9ty 2 fe ol ki
Sub questions

Question Number : 49 Question Id : 2099632548 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY 64 # B. Data Analysis
o bl

The total number of female emplovees 1 all these four companies 1s

cAdftmdis s it
1) 3363
) 364
3) 3365
B 3366

Options:

Question Number : 50 Question Id : 2099632549 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY =46} # B. Data Analysis



The total number of male employees m companies A and B 15

-;:_JLL;"JWLL) /J( dhur] B 4A

Options :

Question Number : 51 Question Id : 2099632550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY 64 # B. Data Analysis

,:fK.:be"

-



The total number of female employees m the companies C and D 1s

-c‘"_)u;’.urWWE 12 M HD;JIC

—— — —, p—
LI ]

S " — s
- | R ]
[
=
|

Options :

Sub-Section Number : 7
Sub-Section Id : 209963283
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 2099632551 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (52 to 55)



SECTION - A : ANALYTICAL ABILITY =46} # B. Data Analysis
f.:'f-h O E’Ey
Let § be the set of first 200 natural mumbers, A be the set of all multiples of 3 1 §

B be the set of all multiples 5 1 § and C"be the set of all multiples of 71 S.

Based on this mformation answer the questions from 52-55.

(RALS IS Bre A ALILS A et A 20K S S8

-;:;MKJW!LW"J.S Lo s
30 U?ZSSL’SZ&UV{.)BJ LN
Sub questions

Question Number : 52 Question Id : 2099632552 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY  =b6(}# B. Data Analysis

2] el



The number of elements of § which are dvistble by 3 and 5 but not 7 15

-Jfa7 ' -ujﬁ.jﬂcz.hl?):?alﬂu(/‘tfﬁ S

Options :
1.9 1
2. % 2
3.%3

4. % 4

Question Number : 53 Question Id : 2099632553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY b6 # B. Data Analysis

:,fK.:,LL*‘

-



The number of elements of S which are not divisible by any of 3,5 and 7 1s

A S 1830 S

Question Number : 54 Question Id : 2099632554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY =46} # B. Data Analysis

,:fK.:ﬁL»E"

-



The number of elements of § which are divistble by all the three numbers

3,5and 71

A SBT3 Pt S

Options :

1.41

4, % 4

Question Number : 55 Question Id : 2099632555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY b6} # B. Data Analysis

#/ﬂ K"‘“L’Ey



The number of elements of § which are exactly drvisible by any two of 3, 5 and 7

1S
-uj(.fw Jﬁ'c.s)u/ o TS 43:?)!};@(/\'«@ S
(1) 16
) 20
(3) M
@ 1
Options :
1. %1
2. % 2
3.3
4, = 4
Sub-Section Number : 8
Sub-Section Id : 209963284
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 2099632556 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Question Numbers : (56 to 60)

SECTION - A : ANALYTICAL ABILITY 6y # C. Coding and Decoding Problems
&Ur,"ijjﬁr’djjﬁjjﬁ(



[n the English alphabet, each vowel 1s coded to 1ts next second vowel cyclically 1¢..
U'iscodedas E. 015 coded as A ... and each consonant 1s coded to 1ts second right
consonant cyclically. 1.¢., Z 15 coded as €. X 15 coded to Z. ¥ 15 coded to B etc. Using

this coding procedure, answer the following questions from 36-60.

W e hdyie b Tag AL (Vowel) by Lot
L Tl§ 3L 1 Consonant /;;;h;‘-_y@@'fc. A 50 :{.ﬂ@/c.E U P
e B e X OIS E i Consonante

Bl L00t S6elydxl /o K3 Py

Sub questions

Question Number : 56 Question Id : 2099632557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY 6y 7 C. Coding and Decoding Problems

aﬂffijifdjmjﬂ/



Code word for JASMINE 15
< BHE L TASVINE

() LIVQUPO
(2) LIVPWRO
(3) LIVPUQO
4) LIVPXRO

Options :

4. % 4

Question Number : 57 Question Id : 2099632558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY 6y # C. Coding and Decoding Problems
&Ur,"ijjﬁr’djjﬁjjﬁ(



Which word 15 coded as LOTUS?

WU/ L1OTUS

Options :

1.1

4. % 4

Question Number : 58 Question Id : 2099632559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY 6 # C. Coding and Decoding Problems
2yl [ 5;65;31..? 3



Code word for COMMON

52 L COMMON

(1) FAQPAQ
() FASSAQ
()
(4)

.

FAPPRQ
FAPPAQ

Options :

Question Number : 59 Question Id : 2099632560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY 6 # C. Coding and Decoding Problems
eyl isrfdbsif 3



SOLDIER 15 code word for
< 8H2L 1 SOLDIRR

(1) QEJABUP
() QEJBAUP
(3) QEJBAVP
(

Options :

4. % 4

Question Number : 60 Question Id : 2099632561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY 6y # C. Coding and Decoding Problems
&Ur,"ijjﬁr’djjﬁjjﬁ(



KARGIL 15 the code for

HLL JKARGLL

1) HOQDAJ
) HORDAJ
3) HOPDAJ

(
(
(
(4) HOPDEI

Options :

Sub-Section Number : 9
Sub-Section Id : 209963285
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 61 Question Id : 2099632562 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A: ANALYTICAL ABILITY &6}/ C. Coding and Decoding Problems
&Uf,“'iuﬂfdjjﬁjj!(



EDUCATION 15 coded as 274563801 and DICTATION 1s coded as 785363801,
then the code for ADDICT

U T8536380L/DICTATION sty 27456380L/EDUCATION
HLLADDICT e/

(1) 67558;
0) 67658
(3) 67788;
1) 6785

Options :

Question Number : 62 Question Id : 2099632563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY 6 # C. Coding and Decoding Problems
eyl isrfdbsif 3

If CLIENT 1s coded as ENEAPV. then the word coded as ECPEXG 15

O ECPEXG 25V ENEAPVY CLIENT /

) CTAVEE
1) ATCEVI
§) CATIVE

[) ACTIVE

(
(
(
(

Options :

1. %1

Question Number : 63 Question Id : 2099632564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY 46} C. Coding and Decoding Problems
&Uf}’ijjfdjfﬁjjj(

If NEAR 15 coded as 66 and COLD 15 coded as 70, then the code of DOWN 1

- HDOWN e U T0/COLD e W < 66/NEAR

4.9 4

Question Number : 64 Question Id : 2099632565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY 6y 7 C. Coding and Decoding Problems
&Ur!’ijj)rdjjﬁjjﬁ(



[f REPAIR 15 coded as 67 and ABILITY 15 coded as 78. then the code for CODE 1

£ef LLCODE e /Y3 78 JABILITY #67/REPAIR/]

Question Number : 65 Question Id : 2099632566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY 46} C. Coding and Decoding Problems
&Ufrififdjmfb'/



[f KRISHNA 15 coded as RXNWKPB, then the code of YAMUNA 15
o WAMUNA.;’:M%&.RXNWKPB J KRISHNA ,fl

() EFXQPB
() EFQXPB
(3) EFQXBP
(4) FEQXPB

Options :

Sub-Section Number : 10
Sub-Section Id : 209963286
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 2099632567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY &6 4 D Date and Time & Arrangement Problems

UFPL(W;‘UJI;‘JHFZ}JV



If 8% December, 2007 was Saturday, then which day of the week was on §

December, 19307

1980, 385 5200738/

)

Sunday M

2 Saturday e
) Tuesday UK"
4 Monday f

Options :

1. %1

2. % 2

3.%3

4.¥ 4

Question Number : 67 Question Id : 2099632568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - A - ANALYTICAL ABILITY _JLM D. Date and Time & Arrangement Problems
JL-*L([E:‘Uﬂ:jhE}JV



[fa,  are the acute angles between the hour hands and minute hands of a clock

when the time 15 7.26 and 7.36 respectrvely, then & = f 15 (in degrees)

/J ,{ﬂ@é.}l)ubLlJ&.c)WLUfrJ m;lé@ 1.36 #E. 7.26 L2n¢ ?Ul

(JU!TJJ):{‘.J;JJQ = ﬁmdﬁﬁ M

(1) 6
(2

(3) 7
4 4

Options :

Ly |
L |

4. % 4

Question Number : 68 Question Id : 2099632569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - A - ANALYTICAL ABILITY _JLJL/ D. Date and Time & Arrangement Problems
JL-"L([E;UJ'&EHé'Jt'



If time m a clock 15 8.40, what time does 1ts mirror image show?

Lol sl o i i L)

(1) 310
(0) 320
(3) 330
@) 340
Options :
1. %1
2.9¥ 2
3. %3
4, % 4

Question Number : 69 Question Id : 2099632570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION-A: ANALYTICAL ABILITY  wdfl#  D. Dateand Time & Arrangement Problems
UF'L"LrLE}UJ'ﬂHJ‘E}Jt'



A man said to a woman “Your father’s only sister 15 my mother”. How 1 related

that man with the women’s father?
-c:_:fij,:c:,JJljﬁaJ:‘ ﬁf‘f J f‘"c:.utd ﬁd@éwhﬁvpjf c“.L‘%(d.ms‘ JUJ Jl

(1) Son-in-law

M

(2) Son b
(3) Father "
(4) Nephew 2l

Options :

1. %1

2. % 2

3.%3

4.4 4

Question Number : 70 Question Id : 2099632571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - A - ANALYTICAL ABILITY _JLM D. Date and Time & Arrangement Problems
JL-*L([E:‘Uﬂ:jhE}JV



Mohan starts walking from A. Having walked for 400m he turns left walks for 300m
and turns to right and walk for 300m. Then he turns again right and walks a distance
of 800m and then turns left walks for 500m and reaches the point B. Then, the

distance between A and B (in meters) 1s

Lo RIS pudolomi L 2 100 s o Aoty
PO Sprol At e i 80 L S imham A B 230
(UL ABAA S 5 BB Do

Options :
1.9 1
2. % 2
3.%3

4. % 4

Question Number : 71 Question Id : 2099632572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
SECTION-A: ANALYTICAL ABILITY wdfdy#  D. Date and Time & Arrangement Problems

JL-*L([E:'LU':J"J%JV

A cyclist Anvesh makes a trip of 42 km. He leaves 6 munutes late, but travels |

kmph faster and arrives on time. Then the speed of the cyclist is

L j’c.;a.f ” }fd /’"5 JUO c".l?ﬁ:.j L"&P{asc:.t‘f & /”(}‘frmﬁﬁurf "

-J}fJD.JJJIff L/n..wc:.ﬂpg/g.ﬁﬁ

Options :

1.9 1

3.%3

4. % 4

Question Number : 72 Question Id : 2099632573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

SECTION-A: ANALYTICAL ABILITY wdfdy#  D. Date and Time & Arrangement Problems
JL/‘L(IE:'UJL"J“M@JV

Five persons A, B, C, D and E are seated around a circular table facing the centre.
C1s the first to the left A and 15 also to first to the nght of D. B 15 not mmediate

neighbour to A. Who 15 to the second left of D?

(oL DAoL LAC &AL 28 SEADCBAIG

-;:_ufj/"! ke 1£Da:.f i J}W KAcB{.U(..,

3.%3

4.9 4

Question Number : 73 Question Id : 2099632574 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION - A - ANALYTICAL ABILITY _JLJL; D. Date and Time & Arrangement Problems
JLﬁﬂrlE;‘Ujl;‘jch;Jt'

Letm,n be any two integers. [fm +n=m*+ mn + n* and

m@n =mé - mn+nt, then(1+2)B(3+¢1) =

mxn = mé+mn 40’ )ﬁl-ujmé‘ w2l
(1+2)8(3*1) = S m@n=mt-mn+nts

4, % 4

Question Number : 74 Question Id : 2099632575 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
SECTION - A - ANALYTICAL ABILITY -JLM D. Date and Time & Arrangement Problems

JL/‘L([E;UJ';‘J“NEJV
Define a@b=a+h+1.
a®@b=a+b+ab . ab€el. Then
the solution of x®(5 @ x) = 5@ (x & x) which is positive is

a@h=a+h+1, 2]
< a®b=a+b+ababel
VPR H1) =580 B )

Options :
1. % 1
2. % 2
3.3

4. % 4



Question Number : 75 Question Id : 2099632576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY 6 4 D Date and Time & Arrangement Problems

UFL-"LrLE}UJ':jJ‘E}Jt'
X
Let xly=- 12 ,
y x

sly=a’ +7~
If 54(21(-4)=

=

.|.

=

; (p<q), thenp =

rly==4 &y
y X

xty=17 +y*
p= & SIEIE) =242 (<o), S

Options :
1.9 1

2. % 2



3.% 3

4. % 4

Mathematical Ability

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default?:

Question Number : 76 Question Id : 2099632577 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY

1. Arithmetical Ability
SRRy

20996338
2

Online
Mandatory
75

75

75

Yes

0

1
209963287
Yes

null

:-;-‘:FLEL,";;_EJ



3 3
29 9 29 38 3
&) terests)

20 32 a
)
1z 11

(1) 7
33

2y 22
33

(3
23

oy 2t
33

Options :

Question Number : 77 Question Id : 2099632578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A

SECTION - B : MATHEMATICAL ABILITY <t6Q¢ Ly
1. Arithmetical Ability

ALY



If 9% =27Y = 81% and—+ — + — = 25, thenx+y+z=
6x 9y 12z

.1 .14
14y42= ot p-=15 4 9% = 27 = 81%/)

) 1
300
0 13
25
(3) 13
300
@ 17
230

Options :
1. %1
2. %2

3.3

Question Number : 78 Question Id : 2099632579 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY :.;,J;l}'df[_,""’ L
1. Arithmetical Ability

c-:Jrﬁ'JU'B,L,J



a*-b

4 1.4
If (a+b):(a—b)=3:2.theu( )z

at+b*

(RLM): ~(a+b):(a-b)=3:2/

at+pt

(1)
312

@) 2
63

(3)
62

(4
313

Options:

Question Number : 79 Question Id : 2099632580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY :,;EL}'JL,“:’ L
1. Arithmetical Ability

AR



A merchant brings two types of rice costing Rs.50 per kg and Rs.60 per kg. He then
mixes two types of rice in some ratio and sells at the rate of Rs.65 per kg and earns

a profit of 20%. Then the ratio in which he mixed two types of rice is

J:UU;L;J.(:' !:L‘,JJMH’:_C'U‘L[’J%L‘S%.JJﬁOiﬁfr'f }KJ%.JJS(]:-{’:‘JQQJJL_.{'if:‘ M2 L“..{l
U e u,;-.:;t‘juwip8[?20%1&':':_?){&5}/.%.3165rlj}b(d....«b;'/u J-f..ﬂtf:‘;
_LLLLLMJEL() 1

—
2
jp —
-1
-y

3.%3

4. % 4

Question Number : 80 Question Id : 2099632581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY :f;EL?d/L,“:’ LJ
1. Arithmetical Ability

ANy

3+V5 i 3—V5
VZ+V3+V5  V2-/3-V5

(D) 2

(2) 3v2

@) &
V2

4) 2v2

Options:

1. %1

Question Number : 81 Question Id : 2099632582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY a;&l?dl,";’g;
1. Arithmetical Ability

SRy



a=y4+V7, b=y4-v7 =a+b=

(1) 14

Question Number : 82 Question Id : 2099632583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY :,;EL?J[_,“:’ L
1. Arithmetical Ability

ALY



Which of the following statements is true?
Qe fE )

(1) 14762 1s divisible by 4.

(2) 14764 1s divisible by 7.

(3) 14769 is divisible by 9.

(4) 15742 1s divisible by 11 .
<S4 14762 (1)
<7 S5 T 14764 (2)
iy aa169 O

Sl a5 (4)

Options :
1. %1
2. %2
3.3

4. % 4

Question Number : 83 Question Id : 2099632584 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY :,;EL}'JL,“:’ L
1. Arithmetical Ability

AR

When the number 13 X 14 X 17 X 19 X 25 is divided by 100. the remainder 1s

o B < 100 /13 X 14X 17 X 19X 25 s

40

60

4, % 4

Question Number : 84 Question Id : 2099632585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY :f;EL?d/L,“:’ LJ
1. Arithmetical Ability

ANy

If LCMof1,2,3,...,60isN, then LCM of 1, 2, 3, ..., 60, 61, 62, 63, 64, 65

(in terms of N) 1

2 x N(Dw Pyl sk 1,2,3, .60/

L () ¢I-31.2.3, ... 60. 61, 62.63, 64. 65

Options :

1.9 1

Question Number : 85 Question Id : 2099632586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY :f;EL?d/L,“:’ LJ
1. Arithmetical Ability

ANy

Suppose LCM of two numbers a, b is (a < b) 40 times HCF of a, b. Then possible

number of pairs (a, b) is

e VA0 K (HCF) b ab (LOM) psK (@< b) a b sainizgh

_J,mfﬂ;fb( (ar b) j‘?"":/

-2

L]

Options :

1.1

4, % 4

Question Number : 86 Question Id : 2099632587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY :f;EL?d/L,“:’ LJ
1. Arithmetical Ability

ANy

|=

0.2+ 0.2340.234 + 0.2345 == (in lowest form) = g —p =

=

g-p= r 02+023+0.234+02345 =§ WL /

—
|

Question Number : 87 Question Id : 2099632588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

]

SECTION — B : MATHEMATICAL ABILITY <460 ¢"Ls
1. Arithmetical Ability

ﬂzjrﬁ'JUé,L,J



4.¥ 4

Question Number : 88 Question Id : 2099632589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY :,;EL}'JL,“:’ L
1. Arithmetical Ability

AL



Descending order of the numbers

65 217 9 63 14.

63’ 21157776012

(]) 9 65 63 14 21?
7'63'62"13 215
(3) 9 14 65 63 21?

713" 63" 62 215
(3) 217 9 14 65 63

215'7'13' 63 62
(4) 63 9 14 65 217

62'7"13"63 215

Options :

Question Number : 89 Question Id : 2099632590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY :,;El?d/[_,“:’ L
1. Arithmetical Ability

ALY



Decreasing order of the numbers

3V3—v26,Y19 — 3v2,V13 - 2V3,V17 - 4,5 - 2\ is
w47 33 - V26,19 - 312, VI3 - 243, VIT - 4,5 - 21 su

(1) V17 -43V3-+26,5- 26,19 - 3v2,V13 - 213
(2) V19 -3v2,3V3 26,5 2/6,V17 — 4,V13 - 213
(3) 5-2v6,3V3-v26,y19-3V2,V17-4,V13 - 2\3
4) 3V3-126,5-2V6,V19 - 3y2,V17 - 4,13 - 2\3

Options :

Question Number : 90 Question Id : 2099632591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

o

SECTION — B : MATHEMATICAL ABILITY <460 ¢ L
1. Arithmetical Ability

ézj:ﬁ'u(dékf



If (3a + 2b) percent of 3a + 2b + c is double the (3a + ¢) percent of 3a + 2b +

¢ then the relation between a, b, ¢ 18

w56 (3a+c)L 3a+2b+c 44 (3a+2b) ¥ 3a+2b+c /i

<2k a,b,cs
) 3a+2c=2b
) a+3c=3b
3 atc=D
) a+b=10c

Options :
1.9 1
2. % 2
3.%3

4. % 4

Question Number : 91 Question Id : 2099632592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

o

SECTION — B : MATHEMATICAL ABILITY <460 ¢ L
1. Arithmetical Ability

SRy



A cylinder C and cone D are of same height h and base radius r. If cone D’s radius
increased by 10% and cylinder C’s height is increased by 10%, then the ratio of

volumes of C and D s

fl)”..wf. D :,'fff-uf}’dsb (r) ﬁﬁ?f_ﬁﬁ';sl (h) J»J'JJ D Jﬂf"ﬂl 0 .:l,'r""“f.J;I

S SELD a1 C bl 10%54 C ey 10%

Options:
1. %1
2. %2
3.3

4. % 4

Question Number : 92 Question Id : 2099632593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY .:.;J;l?d/o"" L
1. Arithmetical Ability

AR



An article’s cost price is Rs.900. By allowing a discount of 10%. the shop keeper

gets 10% profit. Then what is the marked price of the article (in rupees)?

E¥ 10% S (Discount) £ 10% (21 aiine &3904 =42 ]

(tussn) GrMarked Price) A S APZ S b(Profit)

Options :
1. % 1
2.9 2
3.%3

4. % 4

Question Number : 93 Question Id : 2099632594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY .:.;J;l?d/u"" LJ
1. Arithmetical Ability

A Y



A person A sells a watch to B at a profit of 10%, B then sells it to C at a profit of
10%, C sells it to D with a 10% profit. If D gets it for Rs.6633, then the cost price
of the watch (in rupees) is

NECae §23spIC D 10% LB At Sy piBE 10055 i f
(Lugsad edBond Lot sb655/ DS e DALE 0%

-

]

Options :
1. % 1
2. % 2
3.3

4. % 4

Question Number : 94 Question Id : 2099632595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY .:r;f;l?dfd." L
1. Arithmetical Ability

»:-:J:ﬁ'\fdél-,—f



Three persons P, Q, and R enter info a partnership business with the investments in
the ratio 3 : 4 : 5. R withdraws his investment at the end of 3 months. At the same
time another person S joins with P and Q with the mvestment double that of P. If
the share of P m year end profit is Rs.146400, then the share of S in the year end

profit (in rupees) is

L gEnfode Lk hpder 34 Sk AL R o Q Pujd

STk EPALQuP Sshlpmdichgc L sty R 09

¢ SULir B LA ne sl 4640028 Er B LSt P i
-(u’:ul:i-u);ﬁ

219600

201800

221600

213200

_,._._.,_‘ _,._._.,_‘ ,._._._‘ ,.._.,_‘
fad

Options :
1.91
2. %2
3.%3

4. % 4

Question Number : 95 Question Id : 2099632596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY .:,;El?dff L
1. Arithmetical Ability

SRy

Three persons P, Q, R started a business with investments in the ratio 3 : 2 : 5. After
6 months P and Q withdraw half of their investments. If the profit at the end of the

vear is Rs.700000, then P’s share of profit (in rupees) is.

ATy QP g S peilyled(3: 2 5e kil RJJ'QKPJ'}'QE

-<(rupn)2f P d-l,'f.,;ﬁ"%.u 200000 & At [ 1e L

136000
120000
130000
240000

LS }

S S N

Options :
1. % 1
2. %2
3.3

4. % 4

Question Number : 96 Question Id : 2099632597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY .:,AL?JJ"’&;
1. Arithmetical Ability

SRy

Two pipes A and B can fill a tank in 42 and 56 minutes respectively. If both the

pipes are used together, how long will it take to fill the tank (in minutes)?

%:Jﬁ?b»@f"@,uﬁwﬁ-uﬂz )15 Yo 56 a4 s PLL@ ..g B »A A
Sk L L B S

p—
| ]

—
LS ]
 —  — j — S
.
4

Options :

1.1

4. % 4

Question Number : 97 Question Id : 2099632598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY :«;‘l?d/f b
1. Arithmetical Ability

AL
Two pipes individually A and B fill an empty tank in x, y hours respectively. If

x:y =3:2 and B alone can fill the empty tank in 12 hours, then the time taken to

fill the tank, when both pipes are opened is

Bux:y=3: 2/ cu,?f/.fufu;jyc)f.,fﬁ}f.@dhﬂff,;nl’@ Bt A
Kl pinff Bl )b d Ans\ e S5 p P10 B o
K
(1) 7hours 12 min
21287
(2) 7hours 18 min
21887
(3) 7hours
&7
(4) 8 hours

58

Options:
1.9 1
2. %2
3.%3

4. % 4



Question Number : 98 Question Id : 2099632599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY .:,;El?d/[_,“"’ L
1. Arithmetical Ability

ﬂzjrﬁ'JUé,L,J

Ravi goes from a city A to another city B at a speed of 50 kmph and returns back at

a speed of 70 kmph. If he takes 21 hours in the journey, then the distance from A to

B s (in km)

gﬁﬂuﬁlﬁajgxp{ Eﬁa b ¥ 70;31(:_%,4/3 /;r':"r'._ /e A [ ugLJD‘JU( Eﬁj I ¥ 504+

-g(d: P *K )J’EKBLA;U}{J{JJE*E | C.|¢‘3_ I8 }”Jl,ff

Question Number : 99 Question Id : 2099632600 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY :,;El?d/[_,“:’ L
1. Arithmetical Ability

ALY

The speeds of two cars A and B are in the ratio 5 : 6. If A takes 30 minutes more

than B to reach destination. in what time does A reach the destination? (in hours)

6{ .:5,95)&}&?30:. B %_L;rf' ...L{J #A ,ffq:'_.:.;bjb( 3.6 J:;ﬁ;J B A uj;fn
(LML 5 Bl A

Options :

4. % 4

Question Number : 100 Question Id : 2099632601 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY :.;‘J;l}'d/o"" L
1. Arithmetical Ability

AR

Three persons A, B, C can do a piece of work individually in 20, 30 and 24 days
respectively. All the three start working together but C leaves the work after 4 days.

In how many days the remaining work was completed by 4, B?

LUpA g S gt 30 0 AIHSLig 351 C B < A spf
WS RUTSIL B A (h 3 KL Coe s S S

(=l

Ty
-2
e |

—
fatd
o=

r
" " " S
p ]

Options:
1.91
2. %2
3.%3

4. % 4

Question Number : 101 Question Id : 2099632602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY .:.;J;l?d/u‘b LJ
1. Arithmetical Ability

ANy

The ratios of times to complete a piece of work by A and Bis 1:2, Band C is
3:2. If A B and C together complete the work in 260 minutes, in how many

hours B alone can complete the work ?

BASle3: 2 el OBl 1 2 el §hfi /K LBAAKS]

SIS 2B B L S 22606 i C

— — — —
Ll

| ]

Options :
1. % 1
2. %2
3.%3

4.9 4

Question Number : 102 Question Id : 2099632603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY .:.;J;l?'J;_,“:;r LJ
1. Arithmetical Ability

ANy

Consider the right angled isosceles triangle AABC, with right angle at B. LetE. F

be points of trisection on BC. Then AC : AF : AE =

WLBC FESE hec 75 Buc il T ABCSE
AC:AF:AE= o~ (Trisection) &b

(1) 3v2:3:410
(2) 2/2:414:410
() 3v2:413: V10
4) 3v2:2v13:410

Options :

4. % 4

Question Number : 103 Question Id : 2099632604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY .:.;J;l?d/u‘b LJ
1. Arithmetical Ability

ANy

Let R be arectangle with length x cm and breadth y cm. If x and y are both increased
by 1 unit each, the area of this new rectangle becomes 403 sq.units. Then the area

of R is (in $q. units)

.,.:ﬁ,.iurb”JmM Y4l X u;n,ff{_/ y L,-‘bf N AX J)’(u’e{_;_kw Jf RS éul.

(UL P IKR B Ceton i 403 JHE 2

Options :
1.9 1
2. %2
3.%3

4. % 4

Question Number : 104 Question Id : 2099632605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY .:.;J;l?'J;_,“:;r LJ
1. Arithmetical Ability

ANy

The ratio of lateral surface areas of two right circular cylinders is 10 : 9 and the ratio

of their heights is 8 : 3. Then the ratio of their volumes is

e 8:3 AUt 109 AU Lu (S PLUm S nufn

Lnedff Lo

Options:
1. %1

2. 2

Question Number : 105 Question Id : 2099632606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY .:.;J;l?d/u‘b LJ
1. Arithmetical Ability

ANy

C 15 a hollow cuboid of dimensions 90cm X 120cm X 150 cm. Cis to be
painted on all its surfaces. If the total cost of painting is Rs.846, then the cost (in

rupees) of painting per sq. meter is

‘L.L'f-.jﬂ(uré/ rLf"JC-L,I? 90cm X 120cm X 150 cm ;b{rf.u’?iabfgﬂb(fig e

';L( .J!‘U)E";J" Ki.f'fj A @ / L:‘.,}'ﬁ:%.n 846 Z‘;] M Ki.}r;fﬁ |

Options :
1. % 1
2.9 2
3.%3

4. % 4

Question Number : 106 Question Id : 2099632607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY :.;J;E'd/u‘b LJ
1. Arithmetical Ability

ANy

There 1s a circular field of diameter 91m protected by fencing around the field. A
walk way of width 3.5 m inside and along the boundary has been created. The total
cost incurred in getting this work done is Rs.144375. Then the cost per sq. meter

(in rupees) is

g 235 A L shb L B TOA M o § i B 1291

Vol 1 il Lt sl 3T el LUF S bl

S (2
(1) 150
2) 130
(3) 140
@) 145
Options :
1.¥1
2. % 2
3. % 3
4.% 4

Question Number : 107 Question Id : 2099632608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY .:,;EL?JLS‘}’ L
1. Arithmetical Ability

A L
There is a rectangular field. The total cost of fencing around the rectangular field

i Rs.12000. If the length 1s 20m more than its breadth and if the cost of fencing

per meter is Rs.125, then the length (in meters) of the field is

A1 0ef pdp S e s 12000 57 6L 6AD M

Kl )oK J§.3;125 BIKE

Options :
1. % 1
2.¥ 2
3.%3

4. % 4

Question Number : 108 Question Id : 2099632609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY .:.;J;l?d/u‘b LJ
1. Arithmetical Ability

AT
The length and breadth of a rectangular play ground are 39m and 30m respectively.

Poles are required to be fixed along the boundary at a distance 3m apart. Then the

number of poles required is

L5l 2 f s WLt AN L LR K L

-uf :f)!).;jp( LJ*‘A/ JKJJ&LLJZ»‘" LA"Z’,

Options :
1. % 1
2. %2
3.3

4. % 4

Question Number : 109 Question Id : 2099632610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY .:.;J;l?'J;_,“:;r LJ
1. Arithmetical Ability

eV
The least positive value of k such that 19 divides 50" — k is

A5 19 50 — k S puidedy s FISK

4. % 4

Question Number : 110 Question Id : 2099632611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A

SECTION - B : MATHEMATICAL ABILITY <46Q¢ L
1. Arithmetical Ability

ANy



The smallest four digit positive integer that satisfies 12x = 5(mod 13) 1s

_(_./u"“b.r( 12x = 5(mod 13)}?)&5&}5%%@};}%

—
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Sub-Section Number : 2
Sub-Section Id : 209963288
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 111 Question Id : 2099632612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY q},tﬁ*’dl“bg;

2. Algebraic and Geometrical Ability

60 (S )l a2



If A={x:0<x<50, x isanatural number } and

B={x:x=5nn=1234,.} thenn(AnB) =

il d=1850< %< 50, f_:ﬁd%..«g X]ji

MARE)= & B=lgig=nn=ld 34

(1) 10
2) 9
(3) 0
@ 1

Options :

1. %1

2.¥ 2

3. %3

4, % 4

Question Number : 112 Question Id : 2099632613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY :.;J:L?d/g,,“b_i:;
2. Algebraic and Geometrical Ability

%FLEJ(L.«C/?}?).#HH‘J,-J ;J/,J.r



A={x€R: |x-4 <4, B={xeR: |x-5/<2}=24UB=

IS
= == d =
=
=

Options :

1.9 1

Question Number : 113 Question Id : 2099632614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY -*‘-;-EFL;L,&EJ
2. Algebraic and Geometrical Ability
;‘;&Ff(dﬁﬁ).fﬁﬁ‘m ;J/.}.r



If (x* - 1) is a factor of the polynomial 4x* — 7x* + ax® + bx + 5.

thena® +b =

a*+b= Cndpa¥ixt -T0 +ax’ $hx+58,2 (k2 -1)/

Question Number : 114 Question Id : 2099632615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :fﬁﬁ‘dfg,,“b L
2. Algebraic and Geometrical Ability

%FLEJ(L.«C/?}?).#HH‘J,-J ;J/,J.r



If a root of the equation x* — 15x + m = 0 exceeds the other by 3, then m =

m= el e/ ALl K ¥ =15xr+m=0 chis

Question Number : 115 Question Id : 2099632616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :fﬁﬁ'dfg,,“b L
2. Algebraic and Geometrical Ability

%FLEJ(L.«C/?}?).#HH‘J,-J ;J/,J.r



Let p(x) =x* + ax* + bx + L and if x* — 1isa factor of p(x), then 2a — 3b=
& ndAzEp(x) ot - 1 /p(x) =% +ax? + br +1 &

2a4—-3b =

Options :

1.41

4, % 4

Question Number : 116 Question Id : 2099632617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :.;éti-'df;_ﬁ‘b L

2. Algebraic and Geometrical Ability

260 (S ) a2



The remainder when 5x* + 2x* — 3x + 4 is divided by x — 1 1s

Sl S e x=1450% + 202 - 3x + 4

L]

Question Number : 117 Question Id : 2099632618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :fﬁﬁ'dfg,,“b L
2. Algebraic and Geometrical Ability

%FLEJ(L.«C/?}?).#HH‘J,-J ;J/,J.r



If the common solution of the equations 3x + 2xy + 2y = 0 and

x —xy +4y = 01s (X, Yo). thenxg +y5 =

< (X, Y) L SPEx—xy+ 4y =0, 36+ 2xy + 2y = Oeils/|
3 -
Xgt Yo =

1
2
(
(

) 13

)
3)

)

25

|

]

4) 8

Options :

4. % 4

Question Number : 118 Question Id : 2099632619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY a;&ﬁ'dfu"’ L
2. Algebraic and Geometrical Ability
66 (G ) ke 1



x=y12+V143,y =y12-VI83 = (x + 1)(y + 1)

(1) 26-2
() 26-4
() 24426
(4) 44426

Options :

4. % 4

Question Number : 119 Question Id : 2099632620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :.;L,L?JL,“:’ L
2. Algebraic and Geometrical Ability

66 (G ) ke 1



Vxt =203 4+3x2-2x+1 =

(1) x*-x-1
2) x2+x—1
3) x2-x+1
4) —x*+x+2

Options

1. %1

2. % 2

3.3

4, % 4

Question Number : 120 Question Id : 2099632621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :.;},FJLEJG_L‘J
2. Algebraic and Geometrical Ability
;‘;&FJ}(LE?J:?).JHH‘J,-J ;J/.}.r



If a+1,3a—4and 6a — 13 are in arithmetic progression, then 4a + 6 =

bat6= Sunfaddo6a-13 4 at+1,3a-4 /i

(1) 16
2) 10
(3) 2
(4) 30

Options :

1. %1

2. % 2

3.¥ 3

4, % 4

Question Number : 121 Question Id : 2099632622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :.;J:FJL,";JEJ
2. Algebraic and Geometrical Ability
A8 )i o



If the arithmetic mean and geometric mean of the positive numbers a and b are 10

a+b

and 8 respectively, then Pyl

+b i , 2 f
(,“ 5= U8 10 Ak b fS bt st/
a- :
() 1
9
2 1
12
3) 5
36
4 1
144
Options:
1. %1
2. % 2
3.¥ 3
4, % 4

Question Number : 122 Question Id : 2099632623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY :&L"JJ” v,
2. Algebraic and Geometrical Ability
6§ (G ) ie s 1



sin(1485°) + tan(1485°) =

2

@)
V2

B) -1
4 1

(4) bl

Question Number : 123 Question Id : 2099632624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :.;},FJL,";JEJ
2. Algebraic and Geometrical Ability
A8 )i o



sinx + cosecx = 2 = sin®%* x + cosec?0%* yx =

() 1
2) 3
(3) 2
4) 0

Options

1. %1

2. % 2

3.% 3

4, % 4

Question Number : 124 Question Id : 2099632625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :.;L,L?JL,“:’ L
2. Algebraic and Geometrical Ability

66 (G ) ke 1



SinA+CosA SinA-Cos A _ k
SinA-CosA  SinA+CosA  Sin2A-Cos?A

— — —
I~2

D

Question Number : 125 Question Id : 2099632626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :.;},L?JL,":GEJ
2. Algebraic and Geometrical Ability
_.-,“J,L:'J(;_s;»g)_.,,cfﬁ‘m ;A/.J.r



If 6 1s an acute angle and

cot(6+15)°
cot(-15)0

tanf = cot 6. then

cot(§+15)° _

o015 < tanf = cot6 s vkl 9/

—, — —,
frd 2 —
2 Ll L -

Question Number : 126 Question Id : 2099632627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :.;J:LZ-'JL,“:’ L
2. Algebraic and Geometrical Ability

b (§ 22 ief o 72



Two persons P, Q on either side of the tower on the line passing through the feet of
the tower observed that the angles of elevation of the top of the tower are 30, 60°
respectively. If the distance between P and the feet of the tower 1s 30 meters, then
the distance between the feet of the tower and Q 1s (in meters)

.,.gﬂgjr},:m,ﬂéug Z L@MLI;LJ}‘#Lr’ﬁZ.JE.,EW;'J:i A ug QijPJJ)L!J
il Qi 8L dan 230 b L S Lt P s a0 300

< (pK)

(1) 1043
2) 10

) i

7
4) 3043

Options :
1. % 1
2.9¥2
3.%3

4. % 4

Question Number : 127 Question Id : 2099632628 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY ;‘;ELE'JQ"’ L
2. Algebraic and Geometrical Ability

6§ (G ) ie s 1



In the figure, the value of y is

iy pF

(1) 10

Q) 1
19

(3) 2=
18

4 12

Options :

4, % 4

Question Number : 128 Question Id : 2099632629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :.;éti-'df;_,“:’ L
2. Algebraic and Geometrical Ability

260 (S ) a2



If (90 —x)°. 2x° and x° are the angles of a triangle, then the value of x is

bl 1 Guneislakli x0a (90 -x)°, 2¢° /)

—
-2

—
L

S S p— p—
M
Ly |

Options :

1. %1

Question Number : 129 Question Id : 2099632630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :-;-EFJL,‘JJEJ
2. Algebraic and Geometrical Ability

-"*..JZL;LEJ(LE}"J‘,?).-'HH‘J,-J ;J/,J.l



Let S be a circle with centre O and A. B be two points on S. If the area of the sector

OAB is 462 sq.cm and the sectorial angle AOB is 30°, then the length of the arc AB
(in cm) (Take w = 2?—2] is

8462 3K OAB LB/ 1 b e /o BA 1 0 S 6 2 esiniS S

(& 1=2) $r(t U AB UF 2 30 kB
1) 20

2

=2 I
p—

2
23

Lrd

)
)
)
4

(
(
(:
(
Options :
1. % 1

2. % 2

3.3

4. % 4

Question Number : 130 Question Id : 2099632631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY :f;igt-'dfo‘:’ v,
2. Algebraic and Geometrical Ability

-"**.JZFJ(LE/?J‘.?).-'HH‘J ;J/,J.l



ABCD is a parallelogram. E is the mid point of the diagonal DB. If D@ = 10 cm
and DB = 16 cm., then PQ (incm) is

DB = 16em »DQ = 10cm /1.e &g DB /s E e {17 [ABCD

- (u':f) PQ ...: b
A_P B
(1) 6 Y q C
2) 10
(3) 8
4 12
Options :
1. %1
2. % 2
3.%3
4.¥ 4

Question Number : 131 Question Id : 2099632632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :él:"djdi LJ
2. Algebraic and Geometrical Ability
A5G 2) o i



In the following figure, if AB =2BC, then the ratio of area of ABCD to the area of

the circle 1

cere Sl 3L ABCD i AB=2BC Jit 2

0 D ¢

F

Options :

Question Number : 132 Question Id : 2099632633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY ;}Fdff L
2. Algebraic and Geometrical Ability
L0 jﬂﬁ)..u:-sﬁ‘m Ry



In the triangle ABC, given that 24 =a®+2b°% 2B =70°+3b° and

£C=60°—qa® thenb=

A LB =T0"+3 24 = 0¥ + 200 St ABC ekt

b= & 20=60"<g"

Question Number : 133 Question Id : 2099632634 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :.;J:LZ-‘JL,“:’ L
2. Algebraic and Geometrical Ability

6§ (G ) ie s 1



The slope of the line 3 (x + ) + 2(y = x) + 4 =0 is

-<(Slope) ¥ V3 (x+y) +2(y-2)+4=0 s

Options :

1.9 1

Question Number : 134 Question Id : 2099632635 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :.;J:LZ-'JL,“:’ L
2. Algebraic and Geometrical Ability

b (§ 22 ief o 72



The equation of the straight line passing through the intersecting point of the lines

x+y-1=0,2x+y~-6=0and parallel to 4x + 9y + 3 =01s

xsff_@xﬁf:.d’@,bﬁﬁ 2X +y -6=0cx+ i 1=0 LWKQFJPJ(E‘VM

< A+ 9y+3=05

(1) 8x+18y-17=0
(2) 4x+9y-16=0
(3) 4x+9y+16=0
(4) 8x+18y+17=0

Options :

4. % 4

Question Number : 135 Question Id : 2099632636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY :f;i;t-‘dfo‘;’ L
2. Algebraic and Geometrical Ability

-"*..JZFLEJ(LE}"J‘_?).-'HH‘J ;J/,J.l



If the point P(3, 1) divides the line segment joining A(4,0) and B(x, y) internally

mtheratio 1: 3, thenx +y =
Bedfl 3 Bl BE Lol b Bix,y) 4 AU 0) 16 PG, 1) /)
KTY= ig* .:'_L")’

(1) 1
2)
(
(

| ]

]
LS ]

3)
5 4

Options :

Question Number : 136 Question Id : 2099632637 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY :&L"dfu"’ L
2. Algebraic and Geometrical Ability

66 (G ) ke 1



Aline L 1s parallel to y = x and passing through (2, 5). Then what is the distance

fromLtoy=2x?

fe bl y=xc L .,Je{_t'fa.(lfi)ﬁ.uli y=X i L 5

() 52

———
Lrs ]
o
Ly

,-—-H
s
e

-

MTI e

Options :

Question Number : 137 Question Id : 2099632638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :.;J:LZ-‘JL,“:’ L
2. Algebraic and Geometrical Ability

6§ (G ) ie s 1



The equation of a line passing through the origin and perpendicular to the line

joining the points (2, 3) and (0, 0) is

-;:_S I ihﬁLf:Lﬂir(0,0) #(Q23) LL‘?ﬂ;si{_&;}( ;.ply:?:,bbfd’hi

Options :
1. % 1
2. % 2
3.3

4. % 4

Question Number : 138 Question Id : 2099632639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY :f;EFJLS"’ L
2. Algebraic and Geometrical Ability

%FJ(LE}"J_?).-'HH‘J ;J/,J.l



Slope - mtercept form of the line passing through the Point (—2,3) with slope 2 1s

,.?ZJMW?;}JLLFJ}Q. (—2, 3) L petilolly o8 -lejd/ﬁ

4, % 4

Question Number : 139 Question Id : 2099632640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :.;éti-'df;_ﬁ‘b L

2. Algebraic and Geometrical Ability

260 (S ) a2



If @ and b are X and Y-intercepts of the line 2x + 3y = 10 respectively, then

9(a® +b?) =

o@+b)= Surbaaihe B YuX Loxtiy=10 /)

Options :
1.9 1
2. % 2
3.%3

4. % 4

Question Number : 140 Question Id : 2099632641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :-;-EFJL,‘JJEJ
2. Algebraic and Geometrical Ability

-"*..JZL;LEJ(LE}"J‘,?).-'HH‘J,-J ;J/,J.l



The Imes ax + (1 - a)y—1=0 always pass through the point

_i;.L",u'.'f;.Jv};JI.i:‘I ax + (1 = G)y -1=0 5

i
—
2

o

L}
S’

4.9 4

Sub-Section Number : 3
Sub-Section Id : 209963289
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 141 Question Id : 2099632642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :.;-L,L?JLE‘;J_L‘;
3. Statistical Ability
:&G’JLLJP



If the mean of x,x — 97,6,9,x —88,x — 84 1525, then 2x =

2= ndShatfx,x—9769x—88x—84 /i

Options :

1.1

Question Number : 142 Question Id : 2099632643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :f;EL‘:'JL,“b L
3. Statistical Ability

QGJ&LJP



If the average of three numbers is 17 and the sum of two of the three numbers is

32. then the third number 1s

3 v g
Ikl .,.1'.&€32,;/- Eailyse Jok sslsr 1T boslbsliel /|

,._.H ,._.H ,._.H
D -2 e
o ja — j — o —

Options :

Question Number : 143 Question Id : 2099632644 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :.;fgﬁ'dfu‘:’ L
3. Statistical Ability

:&GJ&LJP

:No



If the mean of the observations 20. 21. 32, 16 and x and the mean of the

observations 30, 25, 26, 14, 17 are equal, then x =

< b €30,25,20,14,17 wiyleont boot €x 4 20,21,32,16 :,r,s,L'bfl
X =
(1) 21
2) 22
(3) 4
(4) 23
Options :
1. % 1
2. % 2
3.%3
4.9 4

Question Number : 144 Question Id : 2099632645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :.;J:L?JLS';J L
3. Statistical Ability
:.;%L?u( el



The median of 8 observations is 47. Another four observations 52, 43, 13. 56 were

added to the data. Then the median of 12 observations 1s

=

12und £ JE50, 43,13, 56 clubeips pibalb e 4T eyl

&byl

—
-2

—
D
R R o -
Ll
]

Options :

Question Number : 145 Question Id : 2099632646 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY a;&t?dlﬁ'b L
3. Statistical Ability
J.;j:[?u( ol

:No



The median of the following data is
_;:_::thajgﬁﬁ“l)l”ij 3

Marks 10-25 | 2540 | 40-55 | 5570 | 70-85 | 85-100
el
Frequency 6 20 44 26 3 l

-

W

(1) 4752
(2) 5023
(3) 498
(4) 48.18

Options :

Question Number : 146 Question Id : 2099632647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY ;,35'&_5*" L
3. Statistical Ability

%%G'J.:-k;ls&
The mode of the data 7.5.13.7.6.5.13.4.13. 7. x1s 13. then x =

X = e 1307,513,7,6,513,4, 13,7, 1 el

Options :

Question Number : 147 Question Id : 2099632648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :.;J:FJLF:’ L
3. Statistical Ability
:&GJ -



The mode of the following frequency distribution 1s
o Gl

1 10 15 20 25 30

—,
-2

—
Tad
M e’ el s
-2
]

Options :

4. % 4

Question Number : 148 Question Id : 2099632649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY %&Fdfp‘ég;
3. Statistical Ability
..'.*.;J:G'J ol



Two unbiased dice, whose faces are numbered from 1 to 6, are thrown
simultaneously. What is the probability that the difference of numbers that appear

on top faces 15 2?

(.:JMLIJL}*:;UJ,;U?M{;JJ.ui_uﬁébjj Lm“ffu,%éf;iﬁ! 6t ;;uf;ﬁu'?r_j.gn

_ié.gurggi-ﬁ 2 J)

el | = Ol e [ &5 B == Hl
= =

Options :

Question Number : 149 Question Id : 2099632650 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY ;‘;EFJL}':’ L
3. Statistical Ability
c.;j:[?g}/ ol

No



A number 15 selected at random from 100 natural numbers 1. 2. 3. 4. .... 100.

Then the probability that a randomly selected number is not a perfect square is

Lol P b M F il e 1,23, 4, ..., 100 5187100
-,:_ué-l(i.ﬁ;d 7

Options :

1.1

4. % 4

Question Number : 150 Question Id : 2099632651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY :f;igli-'dflj':’ L
3. Statistical Ability
:.;J:G'U( -



The probability that a randomly selected number from 2, 3,4, 5, ....., 100, 101 is

not a prime is
A ¥ ?9 4 .'"'. * -
_%dgffb’x;.ﬂ:/“’mwﬁfﬁ,:‘”&c. 2,3,4.5,...,100, 101

(1) 0.75

(2) 0.73

(3) 0.74

(4) 0.76
Options :
1. %1
2. % 2
3.3
4. % 4

Communication Ability
Section Id : 20996339
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 38
Number of Questions to be attempted : 38
Section Marks : 50
Enable Mark as Answered Mark for Review and
Yes

Clear Response:
Maximum Instruction Time : 0

Sub-Section Number : 1



Sub-Section Id : 209963290
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 151 Question Id : 2099632652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

A pedestrian 1s one who

(1) drives a motorcycle
(2) sitsmacar
(3) walks on foot
(4) travels by tram
Options
1. %1
2. % 2
3.3
4, % 4

Question Number : 152 Question Id : 2099632653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings



All the players were m good form. So, 1t was a facile win for them.

(1) hard
(2) honest
(3) easy
(4) grand

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 153 Question Id : 2099632654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

Paradigm means

(1) model

(2) scenery
(3) sensor

(4) perception



Options :

Question Number : 154 Question Id : 2099632655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

He was quite udicious. He distributed the property among his children

(1) qustly
(2) lethargic
(3) hasty
(4) unjust

Options:

Question Number : 155 Question Id : 2099632656 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

The media apprectated hus efforts after he won the national award
for hs acting skalls

4.¥ 4

Sub-Section Number : 2
Sub-Section Id : 209963291
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 156 Question Id : 2099632657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Synonyms and Antonyms



The antonym of hassle-free
easy

)

) trouble-free
) complicated
)

smooth

Question Number : 157 Question Id : 2099632658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Synonyms and Antonyms



Synonym of ‘assay’

(1) analyze
(2) say
(3) save
(4) believe
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 158 Question Id : 2099632659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Synonyms and Antonyms



Antonym of ‘malevolence’.

(1) cruelty
(2) ambivalence
(3) benevolence
(4) honesty
Options :
1. %1
2. % 2
3.3
4. % 4

Question Number : 159 Question Id : 2099632660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Synonyms and Antonyms

The synonym of solace

(1) consolation
(2) distress
(3) trouble
(4) anguish



Options :

4. % 4

Question Number : 160 Question Id : 2099632661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Synonyms and Antonyms

The antonym of ‘mediocre”

(I) moderate
(2) mundane
(3)  matchless
(4)  medum
Options :
1. %1
2. % 2
3.3
4. % 4
Sub-Section Number : 3

Sub-Section Id : 209963292



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 161 Question Id : 2099632662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Verb (Tense & Voice)

I the lecture yesterday.

(1) have attended
(2) was attended
(3) attended
(4) amattending

Options :

1.%1

2. % 2

3.3

4. % 4

Question Number : 162 Question Id : 2099632663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Verb (Tense & Voice)



Ramu constructing the building since 2020.

(1) have been
(2) has been
(3) was
(4) should be
Options
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 163 Question Id : 2099632664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Verb (Tense & Voice)



She dinner last evening.

(1) cooked
(2) will cook
(3) 1s cooking
(4) will be cooking
Options :
1.1
2. % 2
3. % 3
4. % 4

Question Number : 164 Question Id : 2099632665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Verb (Tense & Voice)



Give away these prizes to the winners. (Change the Voice)

These prizes may be given away to the winners.

(1)
(2) Winners may be given away these prizes.
(3) These prizes are given away to the winners.
)

4) Let these prizes be given away to the winners.

Options :

Question Number : 165 Question Id : 2099632666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Verb (Tense & Voice)



They delighted to meet their friend yesterday.

(1) were

(2) are

(3) have been

(4)  was
Options:
1.v1
2. % 2
3.%3
4, % 4
Sub-Section Number : 4
Sub-Section Id : 209963293
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 166 Question Id : 2099632667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms



[ promuse to stop smokimg. I am turning over a new leaf this year

The underlined 1diom means.

1) Tam making a new start by stopping smokimng.

() 1

(2) Tam turning the leaves of a book to stop smoking

(3) Tam turning the leaves of this tree to stop smoking.
(

4) Istopped smoking last year itself and turning a new life this vear

Options :

Question Number : 167 Question Id : 2099632668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Phrasal Verbs and Idioms



The mango garden was a bone of contention among the brothers.
(Find out the meaning of the underlmed idiom)

a subject of disagreement
a subject of understanding
a pomnt of disorder

an 1ssue of agriculture

Options :

1.41

4, % 4

Question Number : 168 Question Id : 2099632669 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms



He succeeded i the UPSC examination n his maiden attempt.
(Find out the meaning of the underlmed idiom)

(1
2
(
(

unmarried
repeated

3) last attempt

)
)
)
4) first attempt

Options :

Question Number : 169 Question Id : 2099632670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Phrasal Verbs and Idioms



His health broke down under the pressure of work.

The underlmed phrase means

(1) mproved
(2) collapsed
(3) broke mnto pieces
(4) metwith an accident
Options
1. %1
2.9 2
3.%3
4, % 4

Question Number : 170 Question Id : 2099632671 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms



The severe snow storm blocked the highway and the city.

(1) cutoff
(2) cutmto
(3) cutm
(4) cutup

Options :

Sub-Section Number : 5
Sub-Section Id : 209963294
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 171 Question Id : 2099632672 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Atrticles and Propositions



This 15 best book I have ever read.

(1)
(2) the
3)
(4)

d

3
-

dll

that

Options :

Question Number : 172 Question Id : 2099632673 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

He died Corona.

)

) by
) with
)

at



Options :

4. % 4

Question Number : 173 Question Id : 2099632674 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

[ could trace dictionary which I lost yesterday.

dll

any

Options:
1. %1

2.9 2



Question Number : 174 Question Id : 2099632675 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

He always boasts hus past glory.

) upon
) on
) of
)

n

Question Number : 175 Question Id : 2099632676 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Atrticles and Propositions



The archaeologists found a tunnel the floor.

Sub-Section Number : 6
Sub-Section Id : 209963295
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 176 Question Id : 2099632677 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Computer Terminology



A sequence of mstructions used to perform a task i software.

1
2
3
-

Attenuation

(1)
2)
(3) Assembly Language
(4)

Algorithm
Options :

1. % 1

2. % 2

3.%3

4.4 4

Question Number : 177 Question Id : 2099632678 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Computer Terminology

Bus 1

(1) a circuit that provides a communication path between two or more devices
of a digital computer system.
(2) avehicle

(3) anmstrument used to calculate numbers

(4) aloudcry



Options :
1.9 1
2. % 2
3.% 3

4. % 4

Question Number : 178 Question Id : 2099632679 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Computer Terminology

CMOS stands for
1) Cosmos Mind Over Soul.

3

(1)

(2) Computer Modelled On Supplement.
(3) Central Metal Oxide Saccharme.

(4)

4) Complementary Metal Oxide Semiconductor.

Options :
1. % 1
2. % 2
3.%3

4. 4

Question Number : 179 Question Id : 2099632680 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Computer Terminology

Asset of actions aimed to mfiltrate computer networks, systems and personal
devices,

(I) Cyber Security

(2) Cyber Attack

(3) Cyber Security Analyst
(4) Dark Web

Options :
1. %1
2.9 2
3.% 3

4. % 4

Question Number : 180 Question Id : 2099632681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Computer Terminology



Monitor and keyboard are examples of

1) firmware

(2)  peripherals

(3) motherboard

(4)  operating system
Options :
1. %1
2.9 2
3.% 3
4, % 4
Sub-Section Number : 7
Sub-Section Id : 209963296
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 181 Question Id : 2099632682 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Business Terminology



A sequence of activities that must be performed from mitiation to completion of a
task.

(1) Workflow
(2) Workforce
(3) Bustness Travel
(4) Post-production

Options :

4. % 4

Question Number : 182 Question Id : 2099632683 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Business Terminology



An mcrease 1n general level of prices caused by excess demand.

(1) Commercial
(2) Income flow
(3) Infringement
4)

4) TInflation
Options :
1. % 1

2. %2

3.%3

Question Number : 183 Question Id : 2099632684 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Business Terminology



LVR stands for

(1) Loan-to-Value Ratio
(2) Loan-for-Venture Ratio
(3) Loan-to-Variable Ratio
(4) Loan-to-Viable Ratio

Options :

1.9 1

2. % 2

3.% 3

4. % 4

Question Number : 184 Question Id : 2099632685 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Business Terminology

A busimess model that factlitates purchase or sales of products and services online.

(1) Marketing
(2) Advertising
(3) E-commerce
(4

4) Bustness Technique



Options :

4. % 4

Question Number : 185 Question Id : 2099632686 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Business Terminology

mcludes the activities of mmovation and mtroduction of new

products

(1) Research and Development
(2)  Risk Management

(3)  Human Resource

(4)  Business Analytics

Options :

4, ® 4
Sub-Section Number : 8

Sub-Section Id : 209963297



Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 2099632687 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (186 to 190)
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1

What 15 freedom? It 15 a difficult question to answer categorically. Does it mean
absolute liberty to do as one pleases? Complete non-restraint to pursue any fancy
that strikes one? Is such a free existence posstble at all for a human bemg? Freedom
15, mndeed, a nebulous concept, laying 1tself open to several mterpretations, even
conflicting ones.

There are chaniptons of freedom who vehemently oppose any form of soctal control.
Thoreau at least allows the need of some government---"the best government 1s the
least government"--but there are others who denounce any sort of organisation at all
But given the mperfect nature of human beings, surely, such freedom would
degenerate mto anarchy and fmally to the survival of the fittest in the sense of brute
power? It would result 1n the tyranny of the weak by the strong; It would mean
freedom for the strong and enslavement of the weak.

Sub questions

Question Number : 186 Question Id : 2099632688 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1



The main theme of the passage 15

Freedom

2 —
e

T

Self-restraint

Social Control

a2

— — — —

4) Best Government

Options :

Question Number : 187 Question Id : 2099632689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1



"Ts such a free existence possible at all for a human bemng?":

What do you mean by "such a free existence" m this sentence?

(1) Restramed Freedom
(2) Social Control
(3) Complete freedom to do whatever you like
(4) Tyranny
Options
1. %1
2. % 2
3.3
4. % 4

Question Number : 188 Question Id : 2099632690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1



What 15 the meaning of ‘nebulous' in the passage?
clear

controversial

)
) distinct
)
)

vague

Question Number : 189 Question Id : 2099632691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1



According to Thoreau, the best government

(1) exercises maximum authority.
(2) 1mposes minimum authority.
(3) leads to anarchy.

4) exercises brutal power.

Question Number : 190 Question Id : 2099632692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1



Absolute freedom degenerates 1nto anarchy, because

Options :
1.%1
2.9 2
3.%3

4, % 4
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

9
209963298
No

null

Question Id : 2099632693 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (191 to 195)

SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-2



But let there be not a semblance of breach of peace even after all of us have been
arrested. We have resolved to uttlize all our resources i the pursuit of an exclustvely
nonviolent struggle. Let no one commit a wrong m anger. This 15 my hope and
praver. [ wish these words of mine reached every nook and comer of the land. My
task shall be done 1£ T perish and so do my comrades. It will then be for the Working
Commuttee of the Congress to show you the way and it will be up to you to follow
its lead. So long as I have reached Jalalpur, let nothing be done 1n contravention to
the authonity vested m me by the Congress. But once I am arrested, the whole
responsibility shiffs to the Congress. Noone who believes m non-violence, as a
creed, need, therefore, sit still. My compact with the Congress ends as soon as [ am
arrested. In that case, wherever possible, crvil disobedience of salt should be started.
These laws can be violated 1n three ways. It 15 an offence to manufacture salt
wherever there are facilittes for dong so. The possession and sale of contraband salt,
which meludes natural salt or salt earth, 1 also an offence. The purchasers of such
salt will be equally guilty. To carry away the natural salt deposits on the seashore 15
likewise violation of law. So 1s the hawking of such salt. In short, you may choose
any one or all of these devices to break the salt monopoly.

Sub questions

Question Number : 191 Question Id : 2099632694 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-2



"Let no one commit a wrong m anger": What does 'wrong' m the sentence mply?

4. % 4

Question Number : 192 Question Id : 2099632695 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-2
What 15 the meanimg of "semblance of breach of peace" in the passage”

) Peace should be disturbed mn reality

(!
(2) Peace should not even seem to be disturbed
(3) Violence should prevail

(

4) Everyone should be arrested



Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 193 Question Id : 2099632696 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-2

When does the responstbility of contimumg the struggle shiff to the Congress?

(1) Before the arrest of the speaker.
(2) After the freedom fighters reach Jalalpur.
(3) After the salt satyagraha 15 successful.

(4) After the arrest of the speaker.

Options:

Question Number : 194 Question Id : 2099632697 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

The non-violent struggle i the passage specifically refers to
Purchase of salt.

)

) Salt Satyagraha.
) Possession of contraband salt.
)

Options :
1. % 1
2.9 2
3.% 3

4. % 4

Question Number : 195 Question Id : 2099632698 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-2

No



The speaker n the passage does not advocate for

possession of contraband salt.

manufacture of salt violating the law.

4.9 4

Sub-Section Number : 10
Sub-Section Id : 209963299
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 2099632699 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Question Numbers : (196 to 200)

SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-3



The first thought that comes to my mind. It 15 not that India was never an
ndependent country. The point 1s that she once lost the mdependence she had. Will
she (lose) 1t a second tie? It 15 this thought which makes me most anxious for the
future. What perturbs me greatly is the fact that not only India has once before lost
her mdependence, but she lost 1t by the miidelity and treachery of some of her own
people. Will hustory repeat ttself? Tt 1s this thought which fills me with anxety. This
anxiety 15 deepened by the realization of the fact that 1 addition to our old enemies
1n the form of castes and creeds. India would be a democratic country tn the sense
that would have a government of the people, by the people and for the people. The
same thought comes to my mmd.  What would happen to her democratic
constrtution. It 1s not that India did not know what. .. democracy (1s). Will she (lose)
it a second tme? I do not know. But 1t 15 quite possible m a country like India -
where democracy from 1ts long disuse nust be regarded as something quite new -
there 15 (a) danger of democracy giving place to dictatorship.

Sub questions

Question Number : 196 Question Id : 2099632700 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

What was the ‘system’ of governance India had?

1) Arepublic governance.

(1)
(2) A parliamentary governance.
(3) A constitutional governance.

(4) A democratic governance.

Options :



Question Number : 197 Question Id : 2099632701 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

The word ‘mfidelity” means in the context of the passage .

disloyalty

honesty

)
) loyalty
)
) farthfulness

Options :

1.1

Question Number : 198 Question Id : 2099632702 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

What made India lose her independence in the past ?

1) Democratiation

) First thought

) Infidelity and teachery
)

Repetition of history

4, % 4

Question Number : 199 Question Id : 2099632703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3



The author’s “anxiety” n the passage 15 about

(1) caste and creed
(2) political parties
(3
(

4

)
)
) the people
) dictatorship
Options :

1.1

4. % 4

Question Number : 200 Question Id : 2099632704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

What 15 the “new” thing that democracy from 1ts long disuse gives rise to ?

(1) Supremacy
(2) Dictatorship
(3) Democracy
(4) Bureaucracy



Options :

1. %1

2.¥ 2

3.%3

4. % 4



